Soustraction Horizontale de Décimaux (I)

Calculez chaque différence.

27,37 — 8,63 = 8,7—8,6 =
24,90 — 3,96 = 68,6 — 50,52 =
52,9 — 39,17 = 91,6 — 9,55 =
493 - 7,6 = 21,63 — 7,5 =
28,8 — 2,95 = 82,71 — 65,7 =
1,7 —1,7= 6,33 — 5,3 =
78,11 — 50,6 = 3,38 — 1,02 =
51,1 — 1,9 = 8,3 — 7,53 =
62,76 — 34,17 = 85,2 — 3,24 =
52,7 — 1,8 = 7,16 — 2,8 =
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Soustraction Horizontale de Décimaux (I) Réponses

Calculez chaque différence.

27,37 — 8,63 = 18,74 8,7—8,6=0,1
24,90 — 3,96 = 20,94 68,6 — 50,52 = 18,08
52,9 — 39,17 = 13,73 91,6 — 9,55 = 82,05
493 — 7,6 = 41,7 21,63 — 7,5 = 14,13
28,8 — 2,95 = 25,85 82,71 — 65,7 = 17,01
1,7—1,7=0 6,33 — 5,3 = 1,03
78,11 — 50,6 = 27,51 3,38 — 1,92 = 1,46
51,1 — 1,9 = 49,2 8,3—7,53=0,77
62,76 — 34,17 = 28,59 85,2 — 3,24 = 81,96
52,7— 1,8 = 50,9 7,16 — 2,8 = 4,36
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